fEiTE (FHETL)

Brm : NO.23 - S T-Af

(G Y fER]

(FxzyvoRA2 K]

BE 15H HEE Fry IR E5=E
1 xET 0. 040000 —

2 |EEEREET 0. 070000 —
3 |FTERET 0. 140000 —

BE 1EH = a2 (EBs) FIyv IR ik
4 |TERBIENmERS] 0. 000000 167. 954000 —
b5 | TEREIEMmERS2 -3. 200000 167. 890000 —
6 |TRERiETHEMmERSS -3. 250000 167. 890000 —E
1 | TREREITEmER S -3. 250000 167. 799000 —E
8 |TIERiETHMmERSD -3. 200000 167. 799000 —E
9 [T THIER SO -3. 200000 167. 750000 —E
10 [TERiE THEMER ST 0. 000000 167. 814000 — B
11 [TERETHEMmER SRS 0. 000000 167. 954000 — B




HEETE (FRET)

-
——=

140

X= -3 250000 X= -3. 200000
Y=167. 889000 Y=167. 890000

X= -3. 250000 X= 0.000000
Y=167. 799000 Y=167. 954000

=167 799000 /| X= —3.200000 [X= 0.000000

Y=167.750000  {Y=16/814000




fEiTE (FHETL)

WrEm : NO. 23 - ST -H{

|

| D@

@

|

|

|

|

|

|

|
(EEER Y f5 2R ]
(FzvoRAD ]
BE 15H HEE Fry R &=
1 |[RET 0. 040000 —
2 | LERRAET 0. 070000 —
3 |TERET 0. 140000 —
HE HH 2 a2 (BE) Fyv KR ik
4 | TERBIENERS] 0. 000000 167. 954000 —
b | TERBIENERS2 3. 200000 167. 890000 —
6 |[TrERiETHEMERSS 3. 250000 167. 890000 —3
1 |TrERiE THEEER =4 3. 250000 167. 799000 —3
8 |TRERETHEEERSRS 3. 200000 167. 799000 —3
9 |TERBETEEERS 3. 200000 167. 750000 — 3
10 |FrEgiE THEMmER ST 0. 000000 167. 814000 —&
11 [TFrERiE THEMER RS 0. 000000 167. 954000 —&




HEETE (FRET)

C:E =N Y
~ < I
—_—

X= 3.200000 X= 3.250000
Y=167.890000 Y=167.889000

X= 0.000000 X= 3.250000
Y=167. 954000 Y=167. 799000
X=0.000000 X=3.200000 X=3.200000

Y=16/. 814000 Y=167. 750000 Y=167. 799000




	横断面-舗装工-左側
	横断面-舗装工-右側

